

## CERTAIN GEOMETRIC PROPERTIES OF $\ell$ -HYPERGEOMETRIC FUNCTION

**K.V. Vidyasagar**

Department of Mathematics, Dr. B.R. Ambedkar Open University, Hyderabad, 500033, Telangana, India

**Abstract.** Geometric function theory is the branch of complex analysis which deals with the geometric properties of analytic functions. It was founded around the turn of the 20th century and has remained one of the active fields of the current research. In this paper, we study certain geometric properties like  $\kappa$ -uniformly convexity and  $\kappa$ -starlikeness of  $\ell$ -Hypergeometric function and then we prove Alexander transform of  $\ell$ -Hypergeometric function is starlike.

**Keywords:** Univalent function, close-to-convex function,  $\kappa$ -uniformly iconvexity,  $\kappa$ -starlikeness, Alexander transform,  $\ell$ -Hypergeometric ifunction.

**AMS Subject Classification:** 30C45, 30C55, 33C20.

**Corresponding author:** Vidyasagar, Kuparala Venkata, Department of Mathematics, Dr. B.R. Ambedkar Open University, Hyderabad, Telangana, India, Tel.: 91 8247685902, e-mail: [vidyavijaya08@gmail.com](mailto:vidyavijaya08@gmail.com)

*Received: 21 September 2021; Revised: 18 November 2021; Accepted: 11 January 2022;*

*Published: 19 April 2022.*

## 1 Introduction

Let  $\mathcal{A}(\mathbb{D}_1(0))$  denote the class of analytic functions in the open unit disk  $\mathbb{D}_1(0) = \{z \in \mathbb{C} : |z| < 1\}$ . Let  $\mathcal{C}$  be the class of all functions  $f \in \mathcal{A}(\mathbb{D}_1(0))$  which are normalized by  $f(0) = 0$  and  $f'(0) = 1$  and have the form (Maharana et al., 2018; Mehrez, 2019; Oluwayemi & Faisal, 2021; Ponnusamy et al., 2011; Ponnusamy & Vuorinen, 2001; Prajapat, 2014, 2011; Purohit, 2012; Vidyasagar, 2020)

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad z \in \mathbb{D}_1(0). \quad (1)$$

Two functions  $f, g \in \mathcal{A}(\mathbb{D}_1(0))$  we say that  $f$  is subordinated to  $g$  in  $\mathbb{D}_1(0)$  and express symbolically  $f(z) \prec g(z)$ , if there exists a function  $\omega \in \mathcal{A}(\mathbb{D}_1(0))$  with  $|\omega(z)| < |z|$ ,  $z \in \mathbb{D}_1(0)$  such that  $f(z) = g(\omega(z))$  in  $\mathbb{D}_1(0)$ . Furthermore, if function  $f$  is univalent in  $\mathbb{D}_1(0)$ , then  $g$  is subordinate to  $f$  provided  $g(0) = f(0)$  and  $g(\mathbb{D}_1(0)) \subset f(\mathbb{D}_1(0))$ . By  $\mathcal{S}$  we denote the class of all functions in  $\mathcal{C}$  which are univalent in  $\mathbb{D}_1(0)$ . Let  $\mathcal{S}^*(\varepsilon)$ ,  $\mathcal{C}(\varepsilon)$ ,  $\mathcal{K}(\varepsilon)$ ,  $\tilde{\mathcal{S}}^*(\varepsilon)$  and  $\tilde{\mathcal{C}}(\varepsilon)$  denote the classes of starlike, convex, close-to-convex, strongly starlike and strongly convex functions of order  $\varepsilon$ , respectively, and are defined as

$$\mathcal{S}^*(\varepsilon) = \left\{ f \in \mathcal{C} : \operatorname{Re} \left( \frac{zf'(z)}{f(z)} \right) > \varepsilon, z \in \mathbb{D}_1(0), 0 \leq \varepsilon < 1 \right\},$$
$$\mathcal{C}(\varepsilon) = \left\{ f \in \mathcal{C} : \operatorname{Re} \left( \frac{(zf'(z))'}{f'(z)} \right) > \varepsilon, z \in \mathbb{D}_1(0), 0 \leq \varepsilon < 1 \right\},$$

$$\mathcal{K}(\varepsilon) = \left\{ f \in \mathcal{C} : \operatorname{Re} \left( \frac{zf'(z)}{g(z)} \right) > \varepsilon, z \in \mathbb{D}_1(0), 0 \leq \varepsilon < 1, g \in \mathcal{S}^*(0) \equiv \mathcal{S}^* \right\},$$

$$\tilde{\mathcal{S}}^*(\varepsilon) = \left\{ f \in \mathcal{C} : \left| \arg \left( \frac{zf'(z)}{f(z)} \right) \right| < \frac{\varepsilon\pi}{2}, z \in \mathbb{D}_1(0), 0 \leq \varepsilon < 1 \right\},$$

and

$$\tilde{\mathcal{C}}(\varepsilon) = \left\{ f \in \mathcal{C} : \left| \arg \left( 1 + \frac{zf''(z)}{f'(z)} \right) \right| < \frac{\varepsilon\pi}{2}, z \in \mathbb{D}_1(0), 0 \leq \varepsilon < 1 \right\}.$$

For more details regarding these classes see Duren (1983); Goodman (1983).

For  $z \in \mathbb{C}$ , the  $\ell$ -Hypergeometric function is defined as

$$H \left[ \begin{matrix} a; \\ b; (c : \ell); \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(a)_n}{(b)_n (c)_{\ell n}^{\ell} n!} z^n, \tag{2}$$

where  $(\gamma)_n = \Gamma(\gamma + n)/\Gamma(\gamma)$ ,  $a, \ell \in \mathbb{C}$  with  $\operatorname{Re}(\ell) \geq 0$  and  $b, c \in \mathbb{C} \setminus \{0, -1, -2, \dots\}$ . If we put  $\ell = 0$  in (2), then  $\ell$ -H function turns to well known confluent hypergeometric function,

$$H \left[ \begin{matrix} a; \\ b; (c : 0); \end{matrix} z \right] = {}_1F_1 \left[ \begin{matrix} a; \\ b; \end{matrix} z \right]. \tag{3}$$

The  $\ell$ -H function (2) was recently studied in Chudasama & Dev (2016).

We note that  $\ell$ -Hypergeometric function (2) does not belong to the family  $\mathcal{C}$ . Thus, it is natural to consider the following normalization of  $\ell$ -H function:

$$\begin{aligned} \mathcal{H}(a; b; (c, \ell); z) &= zH \left[ \begin{matrix} a; \\ b; (c : \ell); \end{matrix} z \right] \\ &= z + \sum_{n=2}^{\infty} \frac{(a)_{n-1}}{(b)_{n-1} (c)_{\ell(n-1)}^{\ell} (n-1)!} z^n. \end{aligned} \tag{4}$$

Motivated by above works, in this paper we study certain geometric properties like  $\kappa$ -uniformly convexity and  $\kappa$ -starlikeness of  $\ell$ -Hypergeometric function and then we prove Alexander transform of  $\ell$ -Hypergeometric function is starlike. Let  $\kappa - \mathcal{UCV}$  and  $\kappa - \mathcal{ST}$  be the subclasses of  $\mathcal{S}$  consisting of functions which are  $\kappa$ -uniformly convex and  $\kappa$ -starlike, respectively (Kanas & Wisniowska, 1999, 2000). They are given by,

$$\kappa - \mathcal{UCV} = \left\{ f \in \mathcal{S} : \operatorname{Re} \left( 1 + \frac{zf''(z)}{f'(z)} \right) > \kappa \left| \frac{zf''(z)}{f'(z)} \right|, \right. \\ \left. z \in \mathbb{D}_1(0), \kappa \geq 0 \right\}, \tag{5}$$

$$\kappa - \mathcal{ST} = \left\{ f \in \mathcal{S} : \operatorname{Re} \left( \frac{zf'(z)}{f(z)} \right) > \kappa \left| \frac{zf'(z)}{f(z)} - 1 \right|, \right. \\ \left. z \in \mathbb{D}_1(0), \kappa \geq 0 \right\}. \tag{6}$$

The class of all functions  $p \in \mathcal{A}(\mathbb{D}_1(0))$  with  $p(0) = 1$  satisfying the condition

$$\operatorname{Re} p(z) > \varepsilon, z \in \mathbb{D}_1(0), \varepsilon \in [0, 1)$$

be denoted by  $\mathcal{P}(\varepsilon)$ . In particular,  $\mathcal{P}(0) = \mathcal{P}$  is the well-known Caratheódory class of functions with positive real part in  $\mathbb{D}_1(0)$  (Goodman, 1983). The following lemmas are useful in the next section.

**Lemma 1.** (Owa et al., 2002) If  $f \in \mathcal{C}$  satisfies the inequality

$$|zf''(z)| < \frac{1-\varepsilon}{4}, \quad z \in \mathbb{D}_1(0), \quad \varepsilon \in [0, 1), \tag{7}$$

then,

$$\operatorname{Re}f'(z) > \frac{1+\varepsilon}{2}, \quad z \in \mathbb{D}_1(0), \quad \varepsilon \in [0, 1).$$

**Lemma 2.** (Silverman, 1975) Let  $f \in \mathcal{C}$  and  $\varepsilon \in [0, 1)$ , then

(i)  $f \in \mathcal{S}^*(\varepsilon)$  provided

$$\sum_{n=2}^{\infty} (n-\varepsilon)|a_n| \leq 1-\varepsilon \tag{8}$$

(i)  $f \in \mathcal{C}(\varepsilon)$  provided

$$\sum_{n=2}^{\infty} n(n-\varepsilon)|a_n| \leq 1-\varepsilon. \tag{9}$$

**Lemma 3.** (Kanas & Wisniowska, 1999, 2000) Let  $f \in \mathcal{C}$ . If for some  $\kappa \geq 0$ ,

$$\sum_{n=2}^{\infty} n(n-1)|a_n| \leq \frac{1}{\kappa+2} \tag{10}$$

and

$$\sum_{n=2}^{\infty} [n+\kappa(n-1)]|a_n| \leq 1, \tag{11}$$

then  $f \in \kappa\text{-UCV}$  and  $f \in \kappa\text{-ST}$ , respectively.

## 2 Main Results

In the sequence, convexity of order  $\varepsilon$ , close-to-convexity of order  $(1+\varepsilon)/2$  for normalized  $\ell$ -Hypergeometric function  $\mathcal{H}(a; b; (c, \ell); z)$  are investigated. Certain sufficient conditions for  $\mathcal{H}(a; b; (c, \ell); z)$  to be in the classes  $\mathcal{P}(\varepsilon)$ ,  $\mathcal{S}^*(\varepsilon)$ ,  $\mathcal{C}(\varepsilon)$ ,  $\kappa\text{-UCV}$  and  $\kappa\text{-ST}$  are also given.

**Theorem 1.** If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$  and  $c \geq 1 + \sqrt{3}$ . Then  $\mathcal{H}(a; b; (c, \ell); z)$  is starlike in  $\mathbb{D}_1(0)$  i.e  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{S}^*$ .

*Proof.* Let  $p(z)$  be the function defined by

$$p(z) = \frac{z\mathcal{H}'(a; b; (c, \ell); z)}{\mathcal{H}(a; b; (c, \ell); z)}, \quad z \in \mathbb{D}_1(0).$$

Since  $\frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \neq 0$ , the function  $p$  is analytic in  $\mathbb{D}_1(0)$  and  $p(0) = 1$ . To prove the result, we need to show that  $\operatorname{Re}(p(z)) > 0$ . Since  $c > 1$  and  $\ell \geq 1$ , it follows that  $(c)_n \leq (c)_n^{\ell n}$  for all  $n \in \mathbb{N}$ . So, from the hypothesis,

$$\begin{aligned} \left| \mathcal{H}'(a; b; (c, \ell); z) - \frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \right| &= \left| \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n}} \frac{z^n}{(n-1)!} \right| \\ &< \sum_{n=1}^{\infty} \frac{1}{(c)_n} \\ &= \sum_{n=1}^{\infty} \frac{1}{c(c+1)(c+2)\cdots(c+n-1)} \\ &< \frac{1}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} = \frac{c+1}{c^2}, \end{aligned} \tag{12}$$

and

$$\begin{aligned}
 \left| \frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \right| &\geq 1 - \left| \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n}} \frac{z^n}{n!} \right| \\
 &\geq 1 - \sum_{n=1}^{\infty} \frac{1}{(c)_n} \\
 &= 1 - \sum_{n=1}^{\infty} \frac{1}{c(c+1)(c+2)\cdots(c+n-1)} \\
 &> 1 - \frac{1}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} = \frac{c^2 - c - 1}{c^2}.
 \end{aligned} \tag{13}$$

From (12) and (13), we have

$$\begin{aligned}
 \left| \frac{z\mathcal{H}'(a; b; (c, \ell); z)}{\mathcal{H}(a; b; (c, \ell); z)} - 1 \right| &= \left| \frac{\mathcal{H}'(a; b; (c, \ell); z) - \frac{\mathcal{H}(a; b; (c, \ell); z)}{z}}{\frac{\mathcal{H}(a; b; (c, \ell); z)}{z}} \right| \\
 &< \frac{c+1}{c^2 - c - 1}, \quad z \in \mathbb{D}_1(0).
 \end{aligned}$$

Since  $c \geq 1 + \sqrt{3}$ , it follows that  $\frac{c+1}{c^2-c-1} \leq 1$  and hence  $\mathcal{H}(a; b; (c, \ell); z)$  is starlike in  $\mathbb{D}_1(0)$ .  $\square$

**Theorem 2.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ , let*

$$\varrho(\varepsilon) = \frac{(2 - \varepsilon) + \sqrt{5\varepsilon^2 - 16\varepsilon + 12}}{2(1 - \varepsilon)}.$$

*If  $c \geq \varrho(\varepsilon)$ , then  $\mathcal{H}(a; b; (c, \ell); z)$  is starlike function of order  $\varepsilon$  i.e  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{S}^*(\varepsilon)$ .*

*Proof.* Following the proof of Theorem 1,  $\mathcal{H}(a; b; (c, \ell); z)$  is starlike function of order  $\varepsilon$ , if  $\frac{c+1}{c^2-c-1} \leq 1 - \varepsilon$ . This is true from the hypothesis. This completes the proof.  $\square$

**Theorem 3.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ , let*

$$\vartheta(\varepsilon) = \frac{(8 - 3\varepsilon) + \sqrt{17\varepsilon^2 - 68\varepsilon + 76}}{2(1 - \varepsilon)}.$$

*If  $c \geq \vartheta(\varepsilon)$ . Then  $\mathcal{H}(a; b; (c, \ell); z)$  is convex of order  $\varepsilon$  i.e  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{C}(\varepsilon)$ .*

*Proof.* Under the hypothesis, we obtain

$$\begin{aligned}
 |\mathcal{H}'(a; b; (c, \ell); z)| &\leq \left| 1 + \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n}} \frac{(n+1)z^n}{n!} \right| \\
 &\leq 1 + \sum_{n=1}^{\infty} \frac{n+1}{(c)_n} \\
 &= 1 + \sum_{n=1}^{\infty} \frac{n}{(c)_n} + \sum_{n=1}^{\infty} \frac{1}{(c)_n} \\
 &\leq 1 + \frac{1}{c} + \frac{2}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} \\
 &= \frac{c^2 + 3c + 2}{c^2}.
 \end{aligned} \tag{14}$$

For the reverse inequality, we have

$$\begin{aligned}
 |\mathcal{H}'(a; b; (c, \ell); z)| &\geq 1 - \left| \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n}} \frac{(n+1)z^n}{n!} \right| \\
 &\geq 1 - \sum_{n=1}^{\infty} \frac{n+1}{(c)_n} \\
 &= 1 - \sum_{n=1}^{\infty} \frac{n}{(c)_n} - \sum_{n=1}^{\infty} \frac{1}{(c)_n} \\
 &\geq 1 - \frac{1}{c} - \frac{2}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} \\
 &= \frac{c^2 - 3c - 2}{c^2}.
 \end{aligned} \tag{15}$$

From (14) and (15), we obtained

$$\frac{c^2 - 3c - 2}{c^2} \leq |\mathcal{H}'(a; b; (c, \ell); z)| \leq \frac{c^2 + 3c + 2}{c^2}, \quad z \in \mathbb{D}_1(0). \tag{16}$$

From (4), we have

$$\begin{aligned}
 |z\mathcal{H}''(a; b; (c, \ell); z)| &= \left| \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n}} \frac{n(n+1)z^n}{n!} \right| \\
 &\leq \sum_{n=1}^{\infty} \frac{n(n+1)}{(c)_n} \\
 &\leq \frac{4}{c} + \frac{1}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} \\
 &= \frac{5c+1}{c^2}.
 \end{aligned} \tag{17}$$

Now, from (16) and (17), we get

$$\left| \frac{z\mathcal{H}''(a; b; (c, \ell); z)}{\mathcal{H}'(a; b; (c, \ell); z)} \right| \leq \frac{5c+1}{c^2 - 3c - 2}, \quad z \in \mathbb{D}_1(0).$$

Since  $c > \vartheta(\varepsilon)$ , it follows that  $\frac{5c+1}{c^2 - 3c - 2} \leq 1 - \varepsilon$ . Hence,  $\mathcal{H}(a; b; (c, \ell); z)$  is convex of order  $\varepsilon$  in  $\mathbb{D}_1(0)$ . □

If we take  $\varepsilon = 0$  in Theorem 3, then we have the following result.

**Corollary 1.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$  and  $c \geq 4 + \sqrt{19}$ . Then  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{C}$ .*

**Theorem 4.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ , let*

$$\rho(\varepsilon) = \frac{10 + 2\sqrt{26 - \varepsilon}}{1 - \varepsilon}.$$

*If  $c \geq \rho(\varepsilon)$ . Then  $\mathcal{H}(a; b; (c, \ell); z)$  is close-to-convex of order  $\frac{1+\varepsilon}{2}$  i.e  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{K}\left(\frac{1+\varepsilon}{2}\right)$ .*

*Proof.* Using (17) and Lemma 1, we have

$$|z\mathcal{H}''(a; b; (c, \ell); z)| \leq \frac{5c+1}{c^2}, \quad z \in \mathbb{D}_1(0).$$

Since  $c \geq \rho(\varepsilon)$ , it follows that  $\frac{5c+1}{c^2} \leq \frac{1-\varepsilon}{4}$ . this proves that  $\mathcal{Re}(\mathcal{H}'(a; b; (c, \ell); z)) > \frac{1+\varepsilon}{2}$  and hence  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{K}\left(\frac{1+\varepsilon}{2}\right)$ .  $\square$

If we take  $\varepsilon = 0$  in Theorem 4, then we have the following result.

**Corollary 2.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$  and  $c \geq 10 + 2\sqrt{26}$ . Then  $\mathcal{H}(a; b; (c, \ell); z)$  is close-to-convex of order  $\frac{1}{2}$  i.e  $\mathcal{H}(a; b; (c, \ell); \cdot) \in \mathcal{K}\left(\frac{1}{2}\right)$ .*

**Theorem 5.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ , let*

$$\psi(\varepsilon) = \frac{1 + \sqrt{5 - 4\varepsilon}}{2(1 - \varepsilon)}.$$

*If  $c \geq \psi(\varepsilon)$ . Then  $\frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \in \mathcal{P}(\varepsilon)$ .*

*Proof.* Let  $p(z)$  be the function defined by

$$p(z) = \frac{\mathcal{H}(a; b; (c, \ell); z)/z - \varepsilon}{(1 - \varepsilon)}.$$

The function  $p(z)$  is analytic in  $\mathbb{D}_1(0)$  and  $p(0) = 1$ . To prove the result, we have to show that  $|p(z) - 1| < 1$ . If  $z \in \mathbb{D}_1(0)$ , then

$$\begin{aligned} |p(z) - 1| &= \left| \frac{1}{1 - \varepsilon} \sum_{n=1}^{\infty} \frac{(a)_n}{(b)_n (c)_n^{\ell n} n!} z^n \right| \\ &\leq \frac{1}{1 - \varepsilon} \sum_{n=1}^{\infty} \frac{1}{(c)_n} \\ &= \frac{1}{1 - \varepsilon} \sum_{n=1}^{\infty} \frac{1}{c(c+1)(c+2)\cdots(c+n-1)} \\ &\leq \frac{1}{1 - \varepsilon} \frac{1}{c} \sum_{n=0}^{\infty} \frac{1}{(c+1)^n} = \frac{c+1}{c^2(1 - \varepsilon)}. \end{aligned}$$

Since  $c \geq \psi(\varepsilon)$ , it follows that  $\frac{c+1}{c^2(1 - \varepsilon)} \leq 1$ . Hence,  $\frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \in \mathcal{P}(\varepsilon)$ .  $\square$

If we take  $\varepsilon = 0$  in Theorem 5, then we have the following result.

**Corollary 3.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $\ell \geq 1$  and  $c \geq \frac{1 + \sqrt{5}}{2}$ . Then  $\frac{\mathcal{H}(a; b; (c, \ell); z)}{z} \in \mathcal{P}$ .*

**Theorem 6.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $c \geq 1$  and  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ ,*

$$\mathcal{H}'(a; b; (c, \ell); 1) - \varepsilon \mathcal{H}(a; b; (c, \ell); 1) \leq 2(1 - \varepsilon).$$

*Then  $\mathcal{H}(a; b; (c, \ell); z) \in \mathcal{S}^*(\varepsilon)$ .*

*Proof.* From (4), we have  $\mathcal{H}(a; b; (c, \ell); z) = z + \sum_{n=2}^{\infty} A_{n-1} z^n$ , where  $A_{n-1} = \frac{(a)_{n-1}}{(n-1)!(b)_{n-1}(c)_{n-1}^{\ell}}$ .

Then from the hypothesis, we have

$$\begin{aligned} \sum_{n=2}^{\infty} (n - \varepsilon) |A_{n-1}| &= \sum_{n=2}^{\infty} n A_{n-1} - \varepsilon \sum_{n=2}^{\infty} A_{n-1} \\ &= (\mathcal{H}'(a; b; (c, \ell); z) - 1) - \varepsilon (\mathcal{H}(a; b; (c, \ell); z) - 1) \\ &= \mathcal{H}'(a; b; (c, \ell); z) - \varepsilon \mathcal{H}(a; b; (c, \ell); z) - 1 + \varepsilon \\ &\leq 1 - \varepsilon. \end{aligned}$$

Hence form Lemma 2,  $\mathcal{H}(a; b; (c, \ell); z)$  is a starlike of order  $\varepsilon$ . □

**Theorem 7.** If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $c \geq 1$  and  $\ell \geq 1$ . For  $0 \leq \varepsilon < 1$ ,

$$\mathcal{H}''(a; b; (c, \ell); 1) + (1 - \varepsilon)\mathcal{H}'(a; b; (c, \ell); 1) \leq 2(1 - \varepsilon).$$

Then  $\mathcal{H}(a; b; (c, \ell); z) \in \mathcal{C}(\varepsilon)$ .

*Proof.* From (4), we have  $\mathcal{H}(a; b; (c, \ell); z) = z + \sum_{n=2}^{\infty} A_{n-1}z^n$ , where  $A_{n-1} = \frac{(a)_{n-1}}{(n-1)!(b)_{n-1}(c)_{n-1}^{\ell(n-1)}}$ .

Then from the hypothesis, we have

$$\begin{aligned} \sum_{n=2}^{\infty} n(n - \varepsilon) |A_{n-1}| &= \sum_{n=2}^{\infty} n(n - 1)A_{n-1} + (1 - \varepsilon) \sum_{n=2}^{\infty} A_{n-1} \\ &= \mathcal{H}''(a; b; (c, \ell); 1) + (1 - \varepsilon)(\mathcal{H}'(a; b; (c, \ell); 1) - 1) \\ &= \mathcal{H}''(a; b; (c, \ell); 1) + (1 - \varepsilon)\mathcal{H}'(a; b; (c, \ell); 1) - (1 - \varepsilon) \\ &\leq 1 - \varepsilon. \end{aligned}$$

Hence form Lemma 2,  $\mathcal{H}(a; b; (c, \ell); z)$  is a convex of order  $\varepsilon$ . □

**Theorem 8.** If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $c \geq 1$ ,  $\ell \geq 1$  and  $\kappa \geq 0$ . Then the sufficient condition for  $\mathcal{H}(a; b; (c, \ell); z)$  to be in  $\kappa - \mathcal{ST}$  is

$$\mathcal{H}'(a; b; (c, \ell); 1) - \frac{\kappa}{\kappa + 1}\mathcal{H}(a; b; (c, \ell); 1) \leq \frac{2}{\kappa + 1}.$$

*Proof.* From (4), we have  $\mathcal{H}(a; b; (c, \ell); z) = z + \sum_{n=2}^{\infty} A_{n-1}z^n$ , where  $A_{n-1} = \frac{(a)_{n-1}}{(n-1)!(b)_{n-1}(c)_{n-1}^{\ell(n-1)}}$ .

Then from the hypothesis, we have

$$\begin{aligned} \sum_{n=2}^{\infty} [n + \kappa(n - 1)] |A_{n-1}| &= (1 + \kappa) \sum_{n=2}^{\infty} nA_{n-1} - \kappa \sum_{n=2}^{\infty} A_{n-1} \\ &= (1 + \kappa)(\mathcal{H}'(a; b; (c, \ell); z) - 1) \\ &\quad - \kappa(\mathcal{H}(a; b; (c, \ell); z) - 1) \\ &= (1 + \kappa)\mathcal{H}'(a; b; (c, \ell); z) \\ &\quad - \kappa\mathcal{H}(a; b; (c, \ell); z) - 1 \\ &\leq 1. \end{aligned}$$

Hence form Lemma 3,  $\mathcal{H}(a; b; (c, \ell); z) \in \kappa - \mathcal{ST}$ . □

**Theorem 9.** If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $c \geq 1$ ,  $\ell \geq 1$  and  $\kappa \geq 0$ . Then the sufficient condition for  $\mathcal{H}(a; b; (c, \ell); z)$  to be in  $\kappa - \mathcal{UCV}$  is

$$\mathcal{H}''(a; b; (c, \ell); 1) \leq \frac{1}{\kappa + 2}.$$

*Proof.* From (4), we have  $\mathcal{H}(a; b; (c, \ell); z) = z + \sum_{n=2}^{\infty} A_{n-1}z^n$ , where  $A_{n-1} = \frac{(a)_{n-1}}{(n-1)!(b)_{n-1}(c)_{n-1}^{\ell(n-1)}}$ .

Then from the hypothesis, we have

$$\begin{aligned} \sum_{n=2}^{\infty} n(n - 1) |A_{n-1}| &= \sum_{n=2}^{\infty} n(n - 1)A_{n-1} \\ &= \mathcal{H}''(a; b; (c, \ell); 1) \\ &\leq \frac{1}{\kappa + 2}. \end{aligned}$$

Hence form Lemma 3,  $\mathcal{H}(a; b; (c, \ell); z) \in \kappa - \mathcal{UCV}$ . □

For a function  $f \in \mathcal{C}$  given by (1), the Alexander transform  $A(f) : \mathbb{D}_1(0) \rightarrow \mathbb{C}$  is defined by (see Alexander (2015))

$$A(f)z = \int_0^z \frac{f(w)}{w} dw = z + \sum_{n=2}^{\infty} \frac{a_n}{n} z^n.$$

**Theorem 10.** *If  $a, b, c, \ell \in \mathbb{R}$  with  $0 < a < b$ ,  $c \geq 1$  and  $\ell \geq 1$ . Then the sufficient condition for  $A(\mathcal{H}(a; b; (c, \ell); z))$  to be in the class  $\mathcal{S}^*$  is  $\mathcal{H}(a; b; (c, \ell); 1) \leq 2$ .*

*Proof.* From (4), we have

$$\frac{\mathcal{H}(a; b; (c, \ell); z)}{z} = 1 + \sum_{n=2}^{\infty} \frac{(a)_{n-1}}{(b)_{n-1}(c)_{n-1}^{\ell(n-1)}} \frac{z^{n-1}}{(n-1)!} = 1 + \sum_{n=2}^{\infty} A_{n-1} z^{n-1},$$

where

$$A_{n-1} = \frac{(a)_{n-1}}{(b)_{n-1}(c)_{n-1}^{\ell(n-1)}(n-1)!}.$$

Thus,

$$\begin{aligned} A(\mathcal{H}(a; b; (c, \ell); z)) &= \int_0^z \frac{\mathcal{H}(a; b; (c, \ell); w)}{w} dw \\ &= z + \sum_{n=2}^{\infty} A_{n-1} \frac{z^n}{n} = \sum_{n=1}^{\infty} a_{n-1} z^n, \end{aligned}$$

where  $a_1 = 1$ ,  $a_n = \frac{A_{n-1}}{n}$ ,  $n \geq 2$ . From Lemma 2, we have  $A(\mathcal{H}(a; b; (c, \ell); z)) \in \mathcal{S}^*(0) = \mathcal{S}^*$  if,

$$\sum_{n=2}^{\infty} n|a_n| \leq 1.$$

That is

$$\begin{aligned} \sum_{n=2}^{\infty} n|a_n| &= \sum_{n=2}^{\infty} n \frac{A_{n-1}}{n} \\ &= \sum_{n=2}^{\infty} \frac{(a)_{n-1}}{(b)_{n-1}(c)_{n-1}^{\ell(n-1)}(n-1)!} \\ &= \mathcal{H}(a; b; (c, \ell); 1) - 1 \leq 1. \end{aligned}$$

Which is true, since  $\mathcal{H}(a; b; (c, \ell); 1) \leq 2$ . This completes the proof.  $\square$

### 3 Acknowledgement

The author would like to thank the referees for their valuable suggestions and comments for the improvement of the paper.

### References

- Alexander, J.W., (1915). Functions which map the interior of the unit circle upon simple regions. *Ann. Math.*, 17, 12-22.
- Chudasama, M.H., Dave B.I. (2016). Some new class of special functions suggested by the confluent hypergeometric function. *Ann. Univ. Ferrara*, 62, 23-38.
- Duren, P.L. (1983). *Univalent Functions. Grundlehren der Mathematischen Wissenschaften*. 259. Springer, New York.



- Godman, A.W. (1983). *Univalent Functions*. Vol I-II. Mariner Publishing. Tampa.
- Kanas, S., Wisniowska, A. (1999). Conic regions and  $k$ -uniform convexity. *J. Comput. Appl. Math.*, 105, 327-336.
- Kanas, S., Wisniowska, A. (2000). Conic domains and starlike functions. *Rev. Roumaine Math. Pures Appl.*, 45 (4), 647-657.
- Maharana, S., Prajapat, J.K., & Bansal, D. (2018). Geometric properties of Wright function. *Mathematica Bohemica*, 143(1), 99-111.
- Mehrez, K. (2019). Geometric properties of a certain class of functions related to the Fox-Wright functions. arXiv preprint arXiv:1903.05151.
- Oluwayemi, M.O., Faisal, I. (2021). A new family of analytic functions associated with multiplier transformation. *Scientific African*, 12, e00754.
- Owa, S., Nunokawa, M., Saitoh, H., Srivastava, H.M. (2002). Close-to-convexity, starlikeness and convexity of certain analytic functions. *Appl. Math. Lett.*, 15, 63-69.
- Ponnusamy, S., Vasudevarao, A. & Vuorinen, M. (2011). Region of variability for exponentially convex univalent functions. *Complex Analysis and Operator Theory*, 5 (3), 955-966.
- Ponnusamy, S., Vuorinen, M. (2001). Univalence and convexity properties for Gaussian hypergeometric functions. *The Rocky Mountain Journal of Mathematics*. 1, 327-353.
- Prajapat, J.K. (2011). Certain geometric properties of normalized Bessel functions. *Appl. Math. Lett.*, 24, 2133–2139.
- Prajapat, J.K. (2014). Certain geometric properties of the Wright function. *Integral Transforms and Special Functions*, doi: 10.1080/10652469.2014.983502.
- Purohit, S.D. (2012). A new class of multivalently analytic functions associated with fractional  $q$ -calculus operators. *Fract. Differ. Calc.*, 2(2), 129–138.
- Silverman, H. (1975). Univalent functions with negative coefficients. *Proc. Am. Math. Soc.*, 51, 109-116.
- Vidyasagar, K. (2020). Geometric properties of some class of univalent functions by fixing finitely many coefficients, *International Journal of Innovative Science, Engineering & Technology*, 7(1).